GSE Algebra 1 Unit 5 Test Review Name:
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2) Given the following equatiorrs; them on the grid below. Label them!
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3) Does the point (-3, 10) work for the following systems? w _how you know
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4) What are the possible answer options when solving a system of equations? Draw each one below and LABEL!!!

x + 14y > -2
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5) Solve the following inequality fory: 9x —3y <12  Graph and shade below. Then pick 3 different points

that would work to be in the solution set.
k ext week. You need to

4
earn at-least $150 Jo coveryour weekly expenses. Your

4 == % Yo
dog-wa erTéTob/pays $6.50 per hour and your job as a car

O Eﬁ>3x../(,{ wash attendant pays $9 per hour. Write a system of linear

inequalities to model the situation. Only set up what they

look like. Do not solve! X=.D5 W‘ CO\Y
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7) Find the slope for the following lines:
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8) What is the difference between the following li I nes? >vs.> and <vs.<
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9) Solve the following system by substitution: { _
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10) Solve the following system using elimination. Justify each step as you do it!
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11) Graph the following system below Be sure \|g shade correc @W @A)

b. 3x; 2y> =20 X+ 2y <2
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12) Tf two Qlynbers is 4. The sum is 12. Fin bers.
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13) Mike and Molly are selling fruit for a school fundraiser. Customers can buy small boxes of oranges or large boxes
of oranges. Mike sold 3 small boxes and 14 large boxes for a total of $203. Molly sold 11 small boxes and 11
large boxes for $220. Find the cost of a small box of oranges and a Iarge box of oranges.

X= gmal Eg)( N @x +14Yy= 203 -84y = 2233
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Y = 12,? 3x+lqaa) 203 ﬂ%”’@ =413
= R

= . 3ax+ l%
14) Graph the following inequali V;‘y 5y iz? Id th graph look correct if it was
shaded like this? Explain!
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15) Create the inequ

}j > ZX +\ 16) What are tfisol ions for the graphs below:
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17) You can work Gt least 30 hours next week>You can earm $400 to cover y@expenses You take
out th€ trash for $5 an hour)and your job as (&alet parker pays $6.50 per houp) Write a system of linear

inequalities to model the situation. Only set up what they look like. Do not solve!

X=4vash
= \alet
X Flp.50y = H00
18) You are trying to do better in math this year. You have scored a 75, 82 and 71 on il i last three unit tests. You

want to make at least a B in the class. What score do you have to make on the{ Jrder to make

the class? X 2 80
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19) You have a plot of land that you want to make into a dirt bike track. You know that the length of the track needs

to be 15 feet longer than the width but you cannoéio g/er 150 feet in What are the largest

measurements that the dirt bike track can be? 3
Uxp3p < 150
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20) Mrs. Forrester is throwing you a cookout! Alas...she is cheap and only wants to serve hotdogs and hamburgers.
The cost of the hotdogs is $3 a pack and the hamburgers are $4 a pack. She wants to buy at least 4 packs of

hotdogs. Her maximum budget is $40. Look at the graph provided below.
[]

Come up with the following:

- A combination of hotdogs and
hamburgers that satisfies all the
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b ° - A combination of hotdogs and

hamburgers that only satisfies ONE

of th(; r?;mreg3ts ( >
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